10.

2018 4F AMHCE FRM AR A%

(FEEK 90 704H)

WE — | = | = | W | B | x| &S] WERm
I %
FETN —, EHZFE (B#E 2 9, & 20 4)
"

. MxN TR (M+N) + 2, I (2017%2019)*2018=

. CPTEBERRELLRE 4: 1, WRMAFEPEH 13 wiAst)E, H. &
PIELRER L2 7. 5, AP ERE PR S A 5.

CRRITEAR 4 70K, &3 R BRE S ACRME S R I I, A D)3 5 5

RIfARAR A ST K.

Ry RPIEFR A ZPIARTAT, 220d 6 /NRHRLE B2 R 40 TR AR M
TAE, HOEREMWEICL AT, R 4 AR RIE 23, B Zpit
AR A TR

o ANEFRAIRIR R a om?, BFE a em®, AN E IR E
BN 95% M 600 =T, Wk A 75% MIKE, A

=T,
JETFRI F 2] Z 3t B3 B 40 K2 2E—ARAZAT, I EPimdt® 61 s BAE
JRAERR 60 K2 — AT, 7 K R FLERAT

B g 5> FIk 2 3, B E/INIAA, 5 RERZIN A
. E 60.6 T-onzhsk, 2oy iR 1. 100, HAzimE T,

KB 3 BT, R % BTG5 A1 60 SERORETS, KR T
EFTA, —Yers 2 5



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

SETN = EES (FE 2 9, #1057

B a

— MY, BT ER g % 0.5 Ff, XEEFE T 3.5 F+, R DESG 2 />
F2 ERyE ¢ D .
(A)3.5 = (1- g) (B) (3.5 + 0.5) = (1— g)
(C) 35 = (1- g) 05 (D) 3.5 +§
3. 4. 5. 6 TAFRE AN SR E R B, WA ¢ ) .
(A) 1 % (B) 2 %t (C) 3 % (D) 4 %
JEERTTZE 50 so—5K, BEMEMRIEIN 2/3, WA 1/6, —3KITZZREM D
(A) 12 (B) 15 (C) 14 (D) 18
fE—3K1K 90cm, T 42cm KT BRI ARIA K AR R R OK, AR AR AE S5 7N
WETEE R, 1B EE 4, /0% () B
(A) 100 (B) 105 (C) 110 (D) 108
E oy ABREAEL S+ L = g Mo xby OE ().
(A) 6 (B) 7 (C) 8 (D) 9
EEIN =. Fl#E: IEf V. 5= x (2£ 5 99)
o
TR FHLIN A S BEAN 5%, AT 10%, B =2 5 A HY 85%. ( )
EEEE N 30% MRS 7 WK, BN 3 wih, SihEiK ( )
KA IE AR, 1E 5B AR L[5 T AR ). ( )
MK T PIEZE R e — A PAT WYL, AR AR, KA. ( )
—NNEORETR R E LA 8.60, ABA XA/ KA 8.599. ( )



A A—h—E
FEIN PO, i+&E&
5 41
1
21. 15XZX0'25+58XQ5%'
fif:
3 3 12 7
22. 2-[1-(5-2+2)+-.
1-(;-1 5)] 3
fi#:
2x2 4x4 6x6 8x8 10x10
9x 11"

23'1><3+3><5+5><7+7><9
fift:

CYRE I RV U
6 24 60 120 210

i



FEIN H. BRVE (@5, ®E 109)
" %

25. W NE AR, BRI 70 PO EK, FIEAZ 13 JH2K, KBS 1 m A
(r B 3) .

fift -

26. FEH AABC #:4:B ED 4y . Wy, AE = %AB,BD = }LBC., AR
. S IR L & 2202

fi2:



27.

28.

29.

TEIN 75y MR (B@ 7 9, 35 9)

/)
5

A B EICARE 600 M, WERMHSERE 10%, RAZ8FR, .
LR R 3:2. KH . AN EERKREAREZ Dn?

fi2:

NEREZAYEW, AR50 HE: WELEE = ITEM B8 0%, & AW
i%ﬂﬁ%*ﬁ'ﬁiﬁﬁ‘] L2 5:2. I BERIR 200 B, IE4F 5€ B= AN SRR SRR
= PIHE N 2 D FR?

figt -

FOPNTRIN AL B FHUER &, fEATTAT, HRREE RS 5:3, 55—
B G, HHE 20%, L3HE 30%, XFEHF RIS B Hily, 43 A #iff 183
TK, 4 A B P2 B £/ ?



30. W TAN, T ¥ 3 A, FERH, AET 1/3 2 A&, Rl
THRBETAEET 1/2 =2, REFEH 5 &145, HERAZOAH?

fift:

31. B 2R R Nz ok B A, FREE AR 57 Tk, HEED ﬁEI’J
HOES BN 7 TOK, CHEPATIE 2B/ 9 ToK. 22RH — R4,
(3R R BRI 63 ToK, IXARIREG I Re s — AN FER 4, ﬁTﬁﬁi/\fﬂi%
AT S L (] P [F)B BIA N [l B4 R A R EDPAT IR & 2 /b Tk 2

i

L 4L HEADN, BREEMTE 120 K, SE2ETE 100 K, RS ET
i 70 K, WER=NFERFEFE, MARMBHR, #REKZE 300 KEEFEHIEITE,
IV 2 fa5, =AM AXATLAIER?



